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GCSE Exam Questions: Proportion

1) Here is a recipe for 16 flapjacks:

125 ¢ Butter
125 ¢ Golden Syrup
50g Sugar
175 g Oats

(a) Sarah wants to make 32 flapjacks.

How much golden syrup should she use?

__________________________ g
(2)
(b) Tariq wants to make 8 flapjacks.
How much sugar should he use?
__________________________ g
(2)
(¢) Ursula has 0.5 kg of oats and plenty of other ingredients.
Can she make 40 flapjacks?
Explain how you got your answer.
C))
(8 marks)
2) 6 workers take 14 hours to paint a fence.
How many hours do 4 men need to paint the same fence?
______________________ hours
(2 marks)
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3) Given that y is inversely proportional to x, complete the table of values:
T 1 2 3 8
Yy 48
(3 marks)
4) (a) yisinversely proportional to x.
Whenx =5,y =4.
Find an equation for y in terms of x.
V=
3)
(b) Find y when x is 10.
V= .
2
(¢) Find x when y is 0.5.
X = .
2
(7 marks)
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GCSE Exam Questions: Proportion Answers

Question Answer Marks

1) Here is a recipe for 16 flapjacks:

125 ¢ Butter
125 ¢ Golden Syrup
S0g Sugar
175 g Oats
(a) | Sarah wants to make 32 flapjacks. How much |(a) 125 x2 1)
golden syrup should she use? 250 ¢ )
(b) | Tariq wants to make 8 flapjacks. How much [(b) 50 =+ 2 1)
sugar should he use? 25 ¢ )
(¢) | Ursula has 0.5 kg of oats and plenty of other [(¢) 0.5 % 1000=1500g 1)
ingredients. Can she make 40 flapjacks?
40 + 16 = 2.5 @
Explain how you got your answer 175%x2.5=4375g¢ 1)

Yes and 437.5 g is less than 500 g oe 6}

2) 6 workers take 14 hours to paint a fence. 14 x 6 +- 4 1)

How many hours would 4 men have taken to 21 hours )
paint the same fence?

3) Given that y is inversely proportional to x, T 1 2 3
complete the table of values: Y 48 24 16
x 1 2 3 8 24 1)
Y 48 16 @
6 1)
4) (a) |y is inversely proportional to x. (a) - k . k

Whenx=35,y=4. Yy = ;07“4— goe @)
Find an equation for y in terms of x. k=20 M

20
y = 2 )

T

(b) | Find y when x is 10. ®m , _ 20 1

y = )

10
y=2 )

i i 20 20
(¢) |[Findx when yis0.5. (c) 05 = 22 orz = 22 e a)
x 0.5
x =40 ey
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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